Top 10 Set Y Level 3-5

Test 1

	Question


	Support
	Answer

	1. Look at the calculation on your answer sheet. Use it to help you to work out the answer to 14 x 390


	14 x 39 = 546
	

	2. What is half of 150?


	
	

	3. Twenty-Five out of fifty pupils were absent from school. What percentage were absent?


	
	

	4. In a group of 73 children, 39 are girls. How many are boys?


	
	

	5. Round 8.37 to one decimal place.


	8.37
	

	6. A TV programme starts at 10 to 8 and lasts 25 minutes. What time does the programme finish?


	
	

	7. What is the volume of the cuboid on your answer sheet?
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	8. Look at the equation on your answer sheet. What is the value of n?


	26 – n = 8
	

	9. The probability of a train being early or on time is 0.8.  What is the probability of the train being late?


	
	

	10. The Pie chart on your answer sheet shows how 200 pupils travel to school.  Roughly how many of these pupils cycle to school?
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Top 10 Set Y Level 3-5

Test 2

	Question


	Support
	Answer

	1. Use the multiplication on your answer sheet to work out 18 x 7.


	18 x 70 = 1260
	

	2. What is one quarter of two thousand? Write your answer in figures.


	
	

	3. Jean got 15 out of 50 in a test. What percentage did she get?


	
	

	4. Subtract 28 from 170.
	
	

	5. Round the number on your answer sheet to two decimal places.


	135.769
	

	6. A film starts at 6:15. It lasts for 2 ½ hours. What time will it finish?


	6:15
	

	7. What is the volume of a 3cm cube?
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	8. Look at the equation on your answer sheet. What is the value of y?


	2y + 4 = 16
	

	9. The probability that I am late for work is 0.1. What is the probability that I am not late for work?


	0.1
	

	10. The Pie chart on your answer sheet shows the different type of sweets in a bag. If there are 8 mints in the bag, how many sweets are there altogether?
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 Top 10 Set Y Level 3-5

Test 3
	Question


	Support
	Answer

	1. Look at the calculation on your answer sheet. What is 448 divided by 16?


	28 x 16 = 448
	

	2. What is three quarters of £60?


	£60
	

	3. Sam got 7 out of 25 in a test. What percentage did he get?


	
	

	4. Subtract 135 from 234.
	
	

	5. Look at the calculation on your answer sheet. Write the answer correct to 1 decimal place.


	15.9 ( 3
	

	6. A lesson starts at 9:50 and finishes at 10:15. How long is the lesson?


	9:50      10:15
	

	7. What is the volume of the cuboid on your answer sheet?
	6cm
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5cm

	

	8. Look at the equation on your answer sheet. Write down the value of x.


	x² = 9
	

	9. In a country the probability it will rain in August is 0.12. What is the probability it will not rain in August?


	0.12
	

	10. The Pie chart on your answer sheet shows the sales for different soups. About what percentage is the sale of Leek?
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Top 10 Set Y Level 3-5

Test 4

	Question


	Support
	Answer

	1. Look at the multiplication on your answer sheet. Use it to calculate 840 divided by 6.


	6 x 14 = 84

840 ( 6 = 
	

	2. What is three fifths of £20?


	
	

	3. Robert got 8 out of 20 in a test. What percentage did he get?


	
	

	4. What is 5.4 added to 3.7?


	5.4   3.7
	

	5. A line is measured as 43mm. What is this length to the nearest centimetre?


	
	

	6. A forty-five minute lesson ended at 10:20. When did it start?


	45      10:20
	

	7. What is the volume of a 6cm cube?


	6cm
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	8. Look at the equation on your answer sheet. Write down the value of x.


	(x = 6
	

	9. The probability that I get a king from a pack of cards is one thirteenth. What is the probability that I don’t get a king?


	 1  

13
	

	10. The pie chart on your answer sheet shows the numbers of different coloured cars in the car park. There were 60 red cars in the car park. Approximately how many blue cars were there?
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Top 10 Set Y Level 3-5

Test 5

	Question


	Support
	Answer

	1. Use the calculation on your answer sheet to work out how many 7’s there are in 112


	7 x 8 = 56

7 x ? = 112
	

	2. A quarter of a number is 1.25. What is the number?


	1.25
	

	3. 201 out of 398 people said they could swim. Estimate this as a percentage.


	201    398
	

	4. What is the sum of these numbers?


	38, 12, 38, 12


	

	5. Anna measures a distance to be 312 centimetres. What is this to the nearest metre?


	312 cm
	

	6. A train travels at 80miles per hour. How far does it travel in 2 ½ hours?


	80    2½  


	

	7. A cuboid has edges of 2cm, 6cm and 8cm. What is the volume of the cuboid?
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	8. Look at the equation on your answer sheet. What is the value of r?


	26 – 2r = 8
	

	9. I throw 2 dice. The probability that I get a total of 8 is 5/36. What is the probability that I don’t get a total of 8?


	 5

36
	

	The pie chart on your answer sheet shows the results of one team in a season. The team won 9 games. How many games did the team play in the whole season?
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